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Chapter  1 Study Guide 

Vocabulary 

Choose the correct word. 

1. The _____________ form of 3,164 is 3,000 + 100 + 60 + 4. 

 

2. In a 4-digit whole number, the greatest place value is _____________. 

 

3. The _____________ form of 2,193 is 2,193. 
 

Concepts and Skills 

Express each number in different forms. 

4. Express 8,056 in word form. 

__________________________________________________ 

__________________________________________________ 
 

5. Express 6,254 in standard form and expanded form. 

Standard form  _______________ 

Expanded form  __________________________________ 
 

Complete. 

In 1,984, 

6. the digit 9 is in the _____________ place. 

 

7. the value of the digit 1 is _____________. 

 

8. the digit 8 stands for _____________. 
 

Compare. Write > or <. 

 

9.  3,765          3,657 

 

10.  6,212          8,523 

 

 

 

thousands 

expanded 

standard 



 

Identify the least number and the greatest number. 

11.  3,615     3,156     3,561 

least _____________  greatest ______________ 

 

Order the numbers from least to greatest. 

12.  6,028     8,620     960 
 

_____________    _____________    _____________ 

 

13.  9,143     9,034     9,134 

 

_____________    _____________    _____________ 

 

14. 3,256     3,279     3,238 
 

_____________    _____________    _____________ 

 

15. 7,425     7,429     7,420 
 

_____________    _____________    _____________ 

 

Find each missing number. 

16. 1 more than 6,722 is __________.        20. 1 less than 3,890 is __________. 

 

17. 10 more than 2,863 is __________.  21. 10 less than 8,742 is __________. 

 

18. 100 more than 829 is __________.  22. 100 less than 526 is __________. 

 

19. 1,000 more than 988 is _________.  23. 1,000 less than 4,059 is _________. 

 

 

Complete each number pattern. 

24.  3,645   3,545   3,445   ________   3,245 

 

25.   5,014    6,014    ________    8,014    9,014 

 

Rename the number 

26.  30 tens is the same as __________ 

27.  15 tens is the same as __________ 


